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總體2004/下     期末考試     班級：           學號：           姓名：

Williamson Ch 7-11, open macro (2004/6/17, 9:10-11:10 am)           

總分：110分。
I. 單選題：10題，每題4分，共40分。
注意：答案請寫在選擇題最後一題下面的答案格上。

CH 9

1.  When drawn against the real interest rate, the output supply curve is upward sloping because labor supply is
a) increasing in the real interest rate and labor demand is independent of the real interest rate.

b) decreasing in the real interest rate and labor demand is independent of the real interest rate.

c) independent of the real interest rate and labor demand is increasing in the real interest rate.

d) independent of the real interest rate and labor demand is decreasing in the real interest rate.
CH 9
2. The marginal benefit from investment for the firm is equal to
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CH 12
3. In the Keynesian sticky wage model, the aggregate supply curve is upward sloping because, at the fixed nominal wage, an increase in the price level
a) increases the real wage and increases labor supply.
b) increases the real wage and increases labor demand.
c) decreases the real wage and increases labor supply.
d) decreases the real wage and increases labor demand.
CH 9

4. In aggregation, the assumption that current-period consumption demand is negatively related to the real interest rate is justified as long as the

a) income effect dominates the substitution effect.

b) substitution effect dominates the income effect.

c) representative consumer is a borrower.

d) representative consumer is a lender.


CH 11
5. An important critique of real business cycle theory is the belief that cyclical movements in total factor productivity

a) rarely occur.

b) may, in part, be an artifact of measurement error.

c) lead to imperceptible changes in labor demand.

d) are too small to account for the size of fluctuations in real GDP.

6.  In the Golden Rule steady state, the marginal product of capital is equal to the

a) savings rate plus the population growth rate.

b) savings rate plus the depreciation rate.

c) population growth rate plus the depreciation rate.

d) (population growth rate plus the depreciation rate) times the capital stock.

CH 10
7.  Which of the following statements is true?

a)  Both the opportunity cost of current consumption and the opportunity cost of  holding money are real interest rate.

b)  Both the opportunity cost of current consumption and the opportunity cost of holding money are nominal interest rate.

c)  The opportunity cost of current consumption is nominal interest rate and the opportunity cost of holding money is real interest rate.

d)  The opportunity cost of current consumption is real interest rate and the opportunity cost of holding money is nominal interest rate.

8.  In the Friedman-Lucas money surprise model, a surprise increase in the money supply

a) increases the real wage and increases the real interest rate.

b) increases the real wage and decreases the real interest rate.

c) decreases the real wage and increases the real interest rate.

d) decreases the real wage and decreases the real interest rate.

9.  When BP curve is flatter than LM curve, the immediate response(s) of an increase in export shifts 
a) both IS curve and BP curve to the right.
b) the IS curve to the right and BP curve to the left.

c) only LM curve to the right.

d) only IS curve to the right.

10.  An important criticism of the Friedman-Lucas money surprise model is that

a) it excludes the possibility of shocks other than money supply shocks.

b) it requires that consumers pay attention to price signals.

c) information on the money supply and the price level are widely available on a timely basis.

d) it ignores important aspects of Federal Reserve policy decisions.

選擇題答案請寫在下面答案格上：

	1.
	
	2.
	
	3.
	
	4.
	
	5.
	

	6.
	
	7.
	
	8.
	
	9.
	
	10.
	


II. 比較靜態填充題：7題，共28分。

每題4分：錯1格扣2分，錯2格（含以上）全扣。請選用正確的模型。

比較靜態結果請以三種符號作答：上升（以↑表示）、或下降（↓）、或不確定（？）。其中，K：capital stock，Ms：money supply，G：government purchases，z：total factor productivity。以下（---）表示模型無法推論。

	
	模型/

外生變動
	產出
	物價
	實質

利率
	就業
	實質

工資

	1
	Real intertemporal model with investment / current K↓
	
	  ---
	
	
	

	2
	Monetary intertemporal model/   Ms↑
	
	
	
	
	

	3
	Monetary intertemporal model/  temporary G↑
	
	
	
	
	

	4
	Monetary intertemporal model/

  temporary z↑
	
	
	
	
	

	5
	Keynesian sticky wage model/

 Ms↑(short-run effects)
	
	
	
	
	

	6
	Keynesian sticky wage model/ 

G↑(short-run effects)
	
	
	
	
	

	7
	Keynesian sticky wage model/

 z↑
	
	
	
	
	


1: CH9

2-4: Ch10

5-7: Ch12

III. 申論分析題：請做圖並說明過程。 3題，共42分。

答案請直接寫在題目卷上。
Ch11
1.
In the Real Business Cycle Model, suppose that the money supply is fixed for all time.  Determine the effects of a persistent increase in total factor productivity on current equilibrium output, employment, the real wage, the real interest rate, and the price level.  Please draw graphs and explain your results.  (15%)
2.
In the Mundell- Fleming Model (i.e., IS-LM-BP model), suppose that BP curve is flatter than LM curve, and perfectly flexible exchange rate system is adopted.  Now there is an increase in money supply.  What are the current effects on aggregate output, the real interest rate, and exchange rate?  Please draw graphs and explain your results.  (15 %)

3. In the Solow growth model, suppose that saving rate increases for each quantity of the capital input, given the labor input.  Show the effects of this on the aggregate production function.  Using a diagram, determine the effects on the quantity of capital per worker, and on output per worker in the steady state. Explain your results. (12%)
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